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(1) #BHIRNZE
NERASE 0 0 0
2)ZWMeE 13,224,000 13,100,000 | 124,000
3) FEURA 1,000 1,000 0
(ZEFIR) [1,000] [1,000] [0]
) EBAHHERERSE 600,000 600,000 0
(45 7 IERREA EE DV S iR ] [600,000] [600,000]| [600,000]
L 13,825,000 13,701,000 [ 124,000
(BREER 0
DEXEE 12,044,000 12,003,000 41,000
(AEEX) [7,259,000] [7,153,000]|  [13,000]
(ZDHDEZE) 4,785,000] [4,850,000]| [244,000]
2)EHE 1,781,000 1,698,000 83,000
BEERA 13,825,000 13,701,000 [ 124,000
LER R IEIHEE 0 0 0
2 BEEIMEBDO
() EE SR 0 0 0
BEESIREEE 0 0 0
(Q)BRENER 0 0 0
BENEREH 0 0 0
LHARRE M SR AR 0 0 0
L HA — A% 1E bR B EE 1 R AE 0 0 0
—RIEKRMEREES 0 0 0
—RIERBERARES 0 0 0
I 157 IERREAE IR D AR
=BT ERERES 2,400,000 3,000,000 (600,000)
—MERMEANES (BETMEERLEHES) 600,000 600,000 0
L HATE T IERREA 1B IRIER (600,000) (600,000)| (600,000)
EEEKRMEHEERS 2,400,000 3,000,000 (600,000)
EEERMERRES 1,800,000 2,400,000 (600,000)
Il FRBESHRES 7,234,804 7,834,804] (600,000)
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